
 


10.  
 

1. 

 
A. 
  
    (i)  
    (ii) 
  
    (iii)  
    (iv)  
2. 
  
A. :









3. 
  

a) Y 
b) Y? 

   c)  X? 
   d) 
   e) X  Y   
A. 
     
    (a) Y. 
    (b) Y2. 
    (c) X1. 
    (d) 
‘X’  ‘Y’
‘H’  ‘Y’
 
    (e) ‘X’  
         ‘Y’ 
 

4. 

  
A. 






.   
5. 
 
A. (i)  (NaCl): 
         (Na) Z=11. 
           1s2 2s2 2p6 3s1 
         
() 
. 
           Na    Na+    +   e- 

          (Cl) Z=17. 
          1s2 2s2 2p6 3s2 3p5 
           
         ()
 
            Cl   +  e-      Cl-     
         

.  
            Na+   +   Cl-      NaCl 
         
  

    (ii)  (CaO): 
          (Ca) Z=20. 
         1s2 2s2 2p6 3s2 3p6 4s2 

      

 
           Ca    Ca+2    +   2 e- 
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          (O) Z=8. 
            1s2 2s2 2p4  
         

 
            O   +  2 e-      O-2     
          

 
            Ca+2   +   O-2      CaO 
         
  

6. A, B  C  
    6, 11  17  
    i. 
   ii.       
  iii. 

A. : 


 

   
  

6 A 2,4 4 4 
11 B 2,8,1 1 1 
17 C 2,8,7 7 1 

   (i) ‘A’ 



 
  (ii) ‘B’ 

1. 

 
 (iii) ‘C’ 



  
7. 

  
A. :


 

    : 








 
    Ex:     
 H-H  104.2 K.Cal/mole 
 Cl-Cl  57.8 K.Cal/mole 
 H-Cl  103 K.Cal/mole 
     :  H2  + Cl2    2HCl 
     
8. 

  
A. 





    
10. 
 
     (a)  (CaO)  
     (b)  (H2O)         (c)  (Cl2) 
A. (a) 
  (CaO):  
    
 
      
     (b)   (H2O): 
 
 
 
     
     (c) (Cl2): 
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11.  H2O
.  
A.  (H2O) 
: 
 
 
 
12. 
(a)  (b)  (c)  
A. 
:    
    (a)  Z=4 
         1s2 2s2 
         2. 
          
   (b) Z=20 
         1s2 2s2 2p6 3s2 3p6 4s2 

         2. 
          
   (c) Z=3 
          1s2 2s1  

         1. 
          
13. 

      (a)  (Br2)  
      (b)  (CaCl2)  
      (c)  (CO2) 
      (d) 
 
A. 
:      
     (a) 
 (Br2): 
 
 
     (b) 
 (CaCl2):  
    
 
     (c) 
 (CO2):  
 
 
 
     (d) CO2 . 

14. • 
 (NH3) 
      • 
(CH4) 
       

(a)  
  

     (b)  
A. (a) 1. 
          3.  
          4. 
     (b) 
 (NH3)  
 
 
 
            
           
(CH4)  
 
 
 
 
15. 

 
A. :    
     (i) 
 
    (ii) 
( )  (x)  
          
    (iii) 
 
   (iv) 

 
    Ex: Z=12 
           = 2 
           
         Mg
 
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16. 

 
A. : 

 
     : 










 
17. 
 
      a) N2   b) O2  
A. (a) N2 :    
     (Z=7)  
    1s22s22p3. 
                             1s    2s   2px  2py  2pz 

     2px, 2py, 2pz 

2px
σ (px-px).   
2py   
     2pz 
ߨ(px-px)    
 (pz - pz)ߨ     
    σ
π
 
 
 
 
   (b) O2 :    
        (Z=8)  
       1s22s22p4. 
                                       1s    2s    2px 2py 2pz 

 

       2py, 2pz 

2py
σ (py-py).   
       2pz 

 ߨ(pz - pz) 
    σ
π
 
 
 
18. 
 

a) BeCl2  b) BF3  
A. : 



 
(a) BeCl2 :    
     (i)  (Z=4)  1s2 2s2.  
    (ii) 1s22s12p1.  
    (iii) 2s  2p 
sp-

  
    (iv)  (Z=17) 
1s2 2s2 2p6 3s2 3p5.  
     (v) 3pz 
. 
    (vi) sp-
 
         p-
  
   (vii)  BeCl2    
          
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 (b) BF3 :    
     (i)  (Z=5)  1s2 2s2 2p1.  
    (ii) 1s2 2s12p2.  
    (iii) 2s  2p 
sp2-

  
    (iv)  (Z=9) 1s2 2s2 2p5.  
     (v) 2pz 
. 
    (vi) sp2-
 
         p-
  
   (vii)  BF3    
          
 
 
 
 
 
 
 
 
19. 
 

a) CH4  
A. (a) CH4 :    
     (i)  (Z=6)  1s2 2s2 2p2.  
    (ii) 1s2 2s12p3.  
    (iii) 2s  2p 
sp3-

  
    (iv)  (Z=1)  1s1.  
     (v) 1s

    (vi) sp3-
 
         s-  
   (vii)  CH4    
         


 

 

 

 

 

 

*
* 
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